CODICE 82876




4
A

O
” ,

CODICE 82876




	
	图纸1
	工程图视图1
	工程图视图2
	工程图视图3




Sheet2

		BGK553 汽油机爆炸图清单-A.01-20231030

		序号		品号		旧品号		品名		规格		单位		品号属性		设计类型		组成用量		底数		BOM备注

		0		60100182-03		60100182-03		SK1E44.5F-3K汽油机\PT294C蓝		BGK553\总成\欧V		只		M:自制件		专用件

		1		80100319-01		310900006		连接盘\本色\5015.31101		BGB52\部件\6孔\含软管限位装置		套		P:采购件		专用件		1		1

		2		80700048-10		320300012		M6x30 内六角3组合螺钉\发黑		GB/T 70.1\碳钢		只		P:采购件		标准件		4		1

		3		80700128-01		330900080		螺钉轴\发黑		BCB33\20Cr		只		P:采购件		标准件		2		1

		4		80700089-02		331000281		波形垫圈\发黑		BCB33\65Mn\0.5		只		P:采购件		标准件		2		1

		5		80100059-04		310800017		离合器\本色\1E40F-5		BCB33\部件\减重款		只		P:采购件		专用件		1		1

		6		80700105-01		331000041		垫圈B\发黑		BM01\65Mn\φ18xφ8.2x1.2\HRC45~50		只		P:采购件		标准件		2		1

		7		80700026-15		320300055		M5x20 内六角3组合螺钉\发黑		GB/T 70.1\碳钢\橙色整圈预涂胶		只		P:采购件		标准件		10		1		磁电机罩4只\高压包2只\启动器4只

		8		80201881-02		80201881-02		磁电机罩\本色喷砂		MFT352L\ADC12		只		M:自制件		专用件		1		1

		9		80700185-01		320700013		圆柱销 φ4x10\本色		GB/T 119.2\碳钢		只		P:采购件		标准件		2		1		磁电机罩2只

		10		80700052-11		80700052-11		M8 金属嵌件六角法兰锁紧螺母\发黑		GB/T 6187.1\碳钢\10级		只		P:采购件		标准件		1		1		磁飞轮1只

		11		80101730-01		80101730-01		磁飞轮\本色		BCE43B\部件\SK1E40F-5EG\锋龙\双叶片		只		P:采购件		专用件		1		1

		12		80700026-24		320300056		M5x30 内六角3组合螺钉\发黑		GB/T 70.1\碳钢\橙色整圈预涂胶		只		P:采购件		标准件		4		1		前后箱4只

		13		80200452-14		80200452-14		前半曲轴箱\本色喷砂		MFT352L\ADC12\扫气槽		只		M:自制件		专用件		1		1

		14		80102174-07		80102174-07		高压包\本色		BCK553\组件\屏蔽帽\锋龙\2022年4月确认状态		只		P:采购件		专用件		1		1

		15		80700179-02		321000009		油封 TC15x30x7\黑色		GB/T 9877.1\NBR\φ15xφ30x7		只		P:采购件		标准件		1		1

		16		80700205-01		320900004		轴承 6202\本色\5004.32102		GB/T 276		只		P:采购件		标准件		2		1		前半箱1只\后半箱1只

		17		80100318-01		310200046		曲轴组件\本色		BCE43\部件\1E40F-5E\迈特\苏特精品滚针		套		S:委外加工件		专用件		1		1

		18		80700084-05		320800003		半圆键 3x13x5\本色		GB/T 1099\碳钢		只		P:采购件		标准件		1		1

		19		80700112-02		320900070		滚针轴承 KBK10x13x15.5\WJS\本色		BM01\φ10xφ13x15.5\中组滚针-2~-4μm\苏特精品		只		P:采购件		标准件		1		1

		20		80700175-01		321000002		油封 TC12x22x7\本色		GB/T 9877.1\NBR\φ12xφ22x7		只		P:采购件		标准件		1		1

		21		80700186-01		320700014		圆柱销 φ5x10\本色		GB/T 119.2\碳钢		只		P:采购件		标准件		2		1		前后箱2只

		22		80400054-01		341000035		曲轴箱垫\本色		BCB43\FBYS403		只		P:采购件		专用件		1		1

		23		80201880-02		80201880-02		后半曲轴箱\本色喷砂		MFT352L\ADC12		只		M:自制件		专用件		1		1

		24		80200581-01		331000122		活塞销挡圈\发黑		CS946N\65Mn\11.5x1		只		P:采购件		专用件		2		1

		25		80200533-01		330900086		活塞销\本色		BCB52\20CrMo\φ10x36		只		P:采购件		专用件		1		1

		26		80200482-02		330700475		活塞\本色\T.BCZ53-011		BCZ53\过共晶铝硅合金\黄组\φ44.5(-0.055/-0.065)		只		P:采购件		专用件		0.5		1

		26		80200482-01		330700384		活塞\本色\T.BCZ53-011		BCZ53\过共晶铝硅合金\蓝组φ44.5(-0.065/-0.075)		只		P:采购件		专用件		0.5		1

		27		80200483-02		80200483-02		活塞环\本色		BCK553\铬钼铜合金\φ44.5x2x1.9		只		P:采购件		专用件		2		1

		28		80400053-01		341000036		缸体垫\本色		BCB43\烟台石川\FBYS403		只		P:采购件		专用件		1		1

		29		80201218-04		80201218-04		顶置缸体\本色\T.BCZ53-018		BCZ53\ADC12\黄组\φ44.5(+0.03/+0.015)\照华\排气口/扫气道修模		只		P:采购件		专用件		0.5		1

		29		80201218-03		80201218-03		顶置缸体\本色\T.BCZ53-018		BCZ53\ADC12\蓝组\φ44.5(+0.015/0)\照华\排气口/扫气道修模		只		P:采购件		专用件		0.5		1

		30		80400705-01		80400705-01		消音器垫\本色		BCK545\FBYS411\部件		只		P:采购件		专用件		1		1

		31		80100339-17		80100339-17		消音器\本色		BCK753\部件\欧V\防喷火\前罩和后罩为不锈钢\DP 50g 1:1:0		只		S:委外加工件		专用件		1		1

		32		80700028-02		320200356		M5x14 平圆头内六角螺钉\镀黑锌		BM01\40Cr\10.9级		只		P:采购件		标准件		6		1		顶盖1只\消音器罩1只\消音器1只\缸体罩3只

		33		80700136-03		320500017		平垫 6\发黑		GB/T 97.1\碳钢		只		P:采购件		标准件		2		1		消音器2只;

		34		80700046-15		320200164		M6x60 内六角螺钉\发黑		GB/T 70.1\碳钢\12.9级\ATC		只		P:采购件		标准件		2		1		消音器2只;

		35		80302227-01		80302227-01		消音器罩\黑色		BCK545\PA6+GF30		只		P:采购件		专用件		1		1

		36		80700028-01		320200355		M5x8 平圆头内六角螺钉\镀黑锌		BM01\40Cr\10.9级		只		P:采购件		标准件		2		1		导风板2只

		37		80302225-01		80302225-01		顶盖\黑色		BCK545\PA6+GF15		只		P:采购件		专用件		1		1

		38		80302222-01		80302222-01		缸体罩\PT294C蓝		BCK545\PA6+GF15		只		M:自制件		专用件		1		1

		39		80400038-01		340800284		熄火线胶塞\黑色\593732601		BCI33H\丁腈橡胶		只		P:采购件		专用件		1		1

		40		80100068-01		311500015		火花塞\本色		TORCH\L8RTC\高度38.5mm\过EMC		只		P:采购件		专用件		1		1

		41		80201871-02		80201871-02		导风板\本色		BCK545\镀锌板		只		P:采购件		专用件		1		1

		42		80700026-18		320300060		M5x25 内六角3组合螺钉\发黑		GB/T 70.1\碳钢\橙色整圈预涂胶		只		P:采购件		标准件		8		1		进气管4只\缸体4只

		43		80400164-01		341000078		进气管垫\本色		BCS45\Interface/NI-2085		只		P:采购件		专用件		1		1

		44		80302235-01		80302235-01		进气管\黑色		BCK545\PA46+GF50		只		P:采购件		专用件		1		1

		45		80400148-01		341000070		化油器垫\本色		BCE52T\FBYS403(烟台石川)		只		P:采购件		专用件		1		1

		46		80101990-01		80101990-01		化油器\本色		BCK553\部件\瑞星\H/T 专用工具\满足欧V和EPA		套		P:采购件		专用件		1		1

		47		80100053-02		80100053-02		易启动拨盘\本色		MFT352L\组件		套		P:采购件		专用件		1		1

		48		80302233-01		80302233-01		启动器座\PT294C蓝		BCK545\PA6+GF15		只		P:采购件		专用件		1		1

		49		80101802-01		80101802-01		启动器组件\黑色\拉扣RAL3020红		BCK545\部件		套		P:采购件		专用件		1		1

		49.1		80700024-05				M5x10 十字盘头螺钉\镀白锌		碳钢		只		P:采购件		专用件		1		1

		49.2						平垫 5x13x1.6\镀白锌		碳钢		只		P:采购件		专用件		1		1

		49.3		80301457				外启动轮\本色		PA6+GF30		只		P:采购件		专用件		1		1

		49.4						启动扭簧\发黑		65Mn		只		P:采购件		专用件		1		1

		49.5		80301456				启动绳轮\本色		PA6+GF30		只		P:采购件		专用件		1		1

		49.6						启动绳\白色		PA		只		P:采购件		专用件		1		1

		49.7		80201353				启动卷簧		65Mn		只		P:采购件		专用件		1		1

		49.8		80302230-01		80302230-01		启动器罩\黑色		BCK545\PA6+GF15		只		Y:虚设品号		专用件		1		1

		49.9		80302231-01		80302231-01		启动手柄\黑色		BCK545\PP+GF15		只		Y:虚设品号		专用件		1		1

		49.10		80201411-01		80201411-01		压缩弹簧\镀白锌		GTOS 326\65Mn		只		P:采购件		专用件		1		1

		49.11		80302232-01		80302232-01		启动拉扣\RAL3020红		BCK545\PA6+GF15		只		Y:虚设品号		专用件		1		1

		50		80101801-01		80101801-01		空滤器座组件\黑色\手柄RAL3020红		BCK545\部件		套		Y:虚设品号		专用件		1		1

		50.1		80300024-02		80300024-02		阻风门手柄\RAL3020红\T.BCI33H.01-3\590581001		BCK526\PA6		只		M:自制件		专用件		1		1

		50.2		80302229-01		80302229-01		空滤器座\黑色		BCK545\PA6+GF15		只		M:自制件		专用件		1		1

		50.3		80300023-01		230201753		阻风门\HVA红\T.BCI33H.01-2\505308901		BCI33H\PA6		只		M:自制件		专用件		1		1

		50.4		80700075-02		320200010		ST4.2x12-H-C 十字盘头自攻螺钉\发黑\322210301		GB/T 845\碳钢		只		P:采购件		标准件		1		1

		51		80800013-01		340700002		油管 φ2.5xφ5\本色透明		BM04\PU		m		P:采购件		专用件		0.1		1		化油器100mm

		52		80100029-01		310100086		吸油球\本色\319060101		CS946N\部件		套		P:采购件		专用件		1		1

		53		80200060-02		80200060-02		反喷隔板\本色		BCK545\SA1C镀铝板\t=1.0		只		P:采购件		专用件		1		1

		54		80700035-02		320200357		M5x50 内六角法兰螺钉\镀黑锌		BM01\碳钢\橙色整圈预涂胶\10.9级		只		P:采购件		标准件		2		1		空滤器2只

		55		80400039-03		80400039-03		无纺布滤芯\本色		EB753R\TPR/无纺布\盛泰		只		P:采购件		专用件		1		1

		56		80400040-01		340800286		空滤海绵\灰色\597174401		BCI33H\650R 30D		只		P:采购件		专用件		1		1

		57		80302228-01		80302228-01		空滤器罩\黑色		BCK545\PP+GF15		只		P:采购件		专用件		1		1

		58		80300021-03		80300021-03		空滤器旋扭\RAL3020红		BCI33H\PA6+GF15		只		M:自制件		专用件		1		1

		59		80101803-01		80101803-01		油箱组件\黑色油箱盖		BCK545\部件		套		P:采购件		专用件		1		1

		59.1		80302234-01		80302234-01		油箱\白色		BCK545\HDPE		只		Y:虚设品号		专用件		1		1

		59.2						油管组合		BCK545\组件		套		Y:虚设品号		专用件		1		1

		59.3		80101827-01		80101827-01		油箱盖组合\黑色		BCK545\组件		套		Y:虚设品号		专用件		1		1

		60		80201980-01		80201980-01		油箱底座\黑色电泳		BGK545\Q235		只		P:采购件		专用件		1		1

		61		80700026-09		320300004		M5x16 内六角3组合螺钉\发黑		GB/T 70.1\碳钢\整圈预涂胶		只		P:采购件		标准件		6		1		油箱底座4只\消音器罩2只

		62		80100320-01		311300001		高背架组合\本色		BGB52\部件		套		P:采购件		专用件		1		1

		63		80100731-01		312200011		双肩背带\黑色+红色\BGB52		BGB52\部件\豪华		套		P:采购件		通用件		1		1

		64		80700138-01		320500039		平垫 10\镀白锌		GB/T 97.1\碳钢		只		P:采购件		标准件		1		1

		65		80700098-02		320500038		弹垫 10\镀白锌		GB/T 93\碳钢		只		P:采购件		标准件		1		1

		66		80700003-01		320400022		M10 六角螺母\镀白锌		GB/T 6170\碳钢		只		P:采购件		标准件		1		1

		67		80200576-04		331000227		消音器铁罩\本色		BCE43\镀铝板\0.8厚		只		P:采购件		专用件		1		1







